Counting Declarer’s Points - Test
I.   Within a range of three points, estimate Declarer’s high card strength in each of the following auctions.     

      In addition, note what you know about declarer’s distribution:
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II.   




North (Dummy)






♠ Q 6


You lead the ♠10, dummy plays the ♠6, partner the 





♥ J 8 5 4

♠7, and declarer wins the ♠A.  Declarer plays a club





♦ Q J 4 2
 
to the ♣ A, (partner playing the ♣2) and then





♣ A K J

runs the ♥J to your king.


West (You)




 What’s your next move?


♠ T 9 8 5



  



♥ K 9 2
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III.

North (Dummy)


West leads the ♠K, as you encourage with the ♠2. Partner 


♠ J T 4




continues with the ♠Q, and the ♠6 to your ♠A. Declarer


♥ J T 4



follows to all three spades. 


♦ K Q 

 
 




♣ A K J 8 4








East (You)

What do you lead now?


 




♠ A 9 8 2
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♦ 9 5 3
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IV.

North (Dummy)


West leads the ♠J won by South with the ♠K. At trick two,  


♠ 6 3 2



 
Declarer runs the ♦Q to your ♦K. (Partner played the ♦8)


♥ Q 8 4



 


♦ A 7 5
 






♣ K Q J T



 





East (You)




 




♠ 7 5 4


What do you return?

  





♥ K J 7 5

 
♦ K T 2
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V.

North (Dummy)


You lead the ♣6 won by dummy’s ♣8. (Partner plays the ♣2) 


♠ T 9


 
 
At trick two, declarer leads a club to the ♣A, then finesses the 
♥ T 7 6 5



♣J.  On the ♣K, declarer discards a spade. Partner discards the 


♦ Q J T 



♦9 and the ♠8 on the last two clubs. (You are playing upside-


♣ K J 9 8



down discards). Declarer now leads the ♠T to his ♠K and your 
East (You)




 
♠A.  (Partner plays the ♠3)
♠ A J 2







  

♥ A J 2





Plan your defense from here. 
 
♦ 7 6 5

        
♣ Q T 7 6
Counting Declarer’s Points – Answer Key
I.  A.
11/12 - 14
At least 6 hearts.

    B.
14/15 - 17
At least 6 hearts.
    C.
11/12 – 13
Exactly 4 spades. 


D.   18 - 19

Fewer than 3 spades (presumably exactly 2)
E.   22 - 24

Balanced
F.   15 – 17
At least 5 spades. Opener made a game try, and Responder declined. 
G.   18 – 20/21
At least 5 diamonds, 4 hearts, and fewer than 3 spades. With 16/17 to a bad 18, Opener

would have rebid 2NT. 
    H.
12/13 – 15
Fewer than 3 hearts.

     I.
10/11 – 12
Usually exactly 4 hearts.

     J.
16/17 – 18
Either a fitting heart card, or a strong suit of his own, (probably diamonds). 
    K.
10/11 – 12
Typically good stoppers in the unbid suits, often with a fitting heart honor. 

    L.
14/15 – 17
At least 5 spades and a good hand. With more, opener makes a slam try. 

   M.
12 – 14/15
At least 6 spades. With more, responder first uses New Minor Forcing (2C).

   N.
11 – 12
Some play this as 13-15. Ask if unsure. 

   O.
10/11 – 12
Somewhat balanced. With only 10 pts, a 5 card suit is likely. 
   P.
14/15 – 17
Clearly a light jump-shift. With a stronger hand, responder makes a slam try. Assume 6 H. 

   Q.
9/10 – 12
At least 6 clubs, often 7.

   R.
9/10 – 12
At least 6 spades. Some play this sequence as forcing, most do not.

   S.
15 – 16
Responder made a quantitative invitation, and opener turned it down.

   T.
17/18 – 20
Sometimes more. At least 5 diamonds. Clubs could be short, but usually at least 4. 

   U.
16 – 18/20
At least 6 or 7 hearts. The more hearts, the few high card points you would expect. 
   V.
6 – 10/11
At least 6 spades. Many opener with fewer spades, but I don’t recommend it. 

   W.
9 – 11

At least 5 hearts.

   X.
16 – 18/19
With long (6+) solid clubs. 
II.   




North (Dummy)



Who has the ♠K? It would seem that East holds 



♠ Q 6




  
the ♠J, (unless South holds the ♠AKJ), so why



♥ J 8 5 4



 
did partner play the ♠7? Did East start with 



♦ Q J 4 2




♠KJ7? Think about South. Holding ♠A432,



♣ A K J




would he really have played the ♠6 from
West (You)




East

  
dummy at trick one? No! South must hold 
♠ T 9 8 5



  
♠ J 7 4 2

the ♠K.  He almost certainly holds 5 hearts, 
♥ K 9 2




♥ 7


so must have the ♥AQ as well. If he also has 
♦ K 5





♦ A 9 8 3

the ♦A, the contract is unbeatable, so you 
♣ T 8 5 4




♣ Q 9 6 2

better assume that partner has that card. 



South 




♠ A K 3




Once you realize that South holds the ♠AK and



♥ A Q T 6 3



 
the ♥AQ, the defense becomes obvious. Switch



♦ T 7 6
 


 

to the ♦K, lead to partner’s ♦A, and hope that a 



♣ 7 3

 



diamond ruff will beat the contract. 
III.


North (Dummy)


After cashing 3 spades, you can see that South



♠ J T 4




started with no honor cards in either black suit. 



♥ J T 4








♦ K Q 




Therefore to have anything resembling an opening



♣ A K J 8 4



hand, South must have the Ace of Diamonds, as
West





East (You)
well as the Ace-King of Hearts. East’s best  
♠ K Q 6




♠ A 9 8 2
chance is to lead the last spade, hoping that 
♥ Q





♥ 6 5 3 2
partner has a singleton Queen of Hearts. He does! 
♦ T 8 4 2




♦ 9 5 3

Declarer could still survive by ruffing high and 
♣ T 9 6 5 3




♣ Q 7

banging down his remaining high trump, but if



South




he does that, either you or your partner is sitting



♠ 7 5 3




too close to the table. 



♥ A K 9 8 7



 



♦ A J 7 6



Note that without the spade play, declarer would  



♣ 2




cash one high heart before taking the finesse. 
IV.  


North (Dummy)


You can tell from the opening lead that South started



♠ 6 3 2




with nine high card points in spades. Since declarer



♥ Q 8 4



didn’t go after the club suit first, you should assume



♦ A 7 5




that he holds the Ace in that suit as well. That adds  



♣ K Q J T



to 13, and the Queen of Diamonds makes 15. He 
West





East (You)
presumably has the Jack of Diamonds as well which 

♠ J T 9 8




♠ 7 5 4

accounts for 16 of the 17 points he can possibly hold.
♥ A 9 6




♥ K J 7 5
Thus, after winning the King of Diamonds, East shifts 
♦ 8 6 3





♦ K T 2
confidently to a low heart and the defenders score 
♣ 9 8 2





♣ 7 6 5

four hearts and one diamond to defeat the hand one



South




trick.
♠ A K Q



 



♥ T 3 2



See for yourself that any other return will allow
  



♦ Q J 9 4



declarer to scamper home with 4 clubs, 2 diamonds, 



♣ A 4 3



and 3 spades. 
V.


North (Dummy)


Partner’s (Upside-down) discards suggest he has no



♠ T 9




strength in either diamonds or spades. This indicates



♥ T 7 6 5



that South holds the Ace-King of Diamonds and the 



♦ Q J T



King-Queen of Spades. Along with his known Ace 



♣ K J 9 8



of Clubs, this gives South an assumed total of at least
West





East (You)
16 points, and NINE tricks if he has four diamonds.
♠ A J 2




♠ 8 7 6 3
 
♥ A J 2




♥ K Q 4 3
Since South is known to have no more than 17 pts, 
♦ 7 6 5





♦ 9 8 2

partner should have both the King and Queen of 
♣ Q T 7 6




♣ 5 2

Hearts.  You should play the Ace and then the Jack



South




of Hearts to unblock in case partner has 4 hearts. 



♠ K Q 5 4



If partner has only 3 hearts, nothing is lost – since he 



♥ 9 8




can return a spade before cashing the 3rd heart and still



♦ A K 4 3



beat the contract in case declarer has something like:



♣ A 4 3



♠ KQxx    ♥ xxx     ♦ AKx     ♣ Axx 
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